S-2183 Sub. Code

22BCC1C1

B.Com.(CA) DEGREE EXAMINATION, APRIL 2024
First Semester
Commerce with Computer Application
ADVANCED ACCOUNTANCY -1
(CBCS - 2022 onwards)
Time : 3 Hours Maximum : 75 Marks
Part A (10 x 2 = 20)
Answer all questions.

1. What is Convention?

LOL|&ET GTETMITED GTEHTEMT ?
2. What is a Journal?
GSOUGUQE eremmmed eTebmen ?
3. What do you known about Error of commission?
AP Gewsdr und Bellr oidleug wrg ?
4. What is a Double sided Error?
@ (muEE 9 paeT eTeTmTed cremen ?

5. What is Insurance policy method?

STULEL(H QETETaSAPenD GCTETMHTE) 6TEITET ?



10.

11.

12.

What are the objective of Depreciation?

Couinrargdler Crrésmsamen 6T (Lpgis.

What do you meant by Accommodation bill?

LIGRTeUFS 2 GiTlq UWIe) GTETMTE 6T6HTen ?

What is Gross profit ratio?
Qrss el eNdsh eTemmmed creme ?
Pass entry for loss of profit.
@eru @uiidne@ @AuCu® cuamys.

What is Premium?

(LPENGTLDLD GTETMHITE) GTGHTET ?
Part B (5 x5 =25)
Answer all questions, choosing either (a) or (b).

(a) Briefly describe the four stages in the accounting

cycle.

semsdwd Fpmsluiler Brem@ Hlosmer &HHESHOTEH
Neuf&geyLb.
Or
(b) Explain the need for Ledger.
CuGrliger Seuflugas eT(Ps)s.
(a) Write a short notes on :
(1)  Errors of duplication

(1) Errors of Off setting.
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13.

14.

(b)

(a)

(b)

(a)

S @Oy euenrs :
1)  @rligliyl Leppger

(i) m@H Qau Geppser.

Or

Rectify the following errors without using a
suspense account.

(1)  Purchase of furniture Rs.2,500 passed through
Purchase day book

(1) Goods worth Rs.1,000 used by the proprietor
not recorded in the books.

&G Qarhdsriul [HeTer 9mPEMET DTTDSS SarTs S,

@derod Ffl Qguis.

(1) wrwsgE QaraTpsd F.2,500wW  CQSTETLPSHED
Gliged yu Gupg

(i) e,.1,000 wélriyerer QurBLsamer 2 fenwwmer
LweTuhsSHwens LiFwelcoane.

Explain the basis of depreciation or factors

influencing the amount of depreciation.

Couibrer sarsdl(Heushsmar il el 6e6TdEHs.

Or

Why depreciation is to be provided? State the
objects and necessity of depreciation.

ger Gawiwnerd Gumrinr. Geuer(HIb ?

What are the advantages of bill of exchange?

LTHM 2 Erig W6 HeTanLOSET LITEnE ?

Or
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15.

(b)

(a)

(b)

On 1.1.99 Jaya sold goods to Devi credit for Rs.2,000
and drew a bill on Devi for Rs.2,000 for 3 months
after date. Devi accepted it on 3.1.99 and returned it
to Jaya on Maturity the bill was duly honoured by
Devi. Pass journal entries in the book of both
parties.

1.1.99 oerm  Gewr  5.2,0008@ GCzeliléE sLer
dpueer Gswsmr. Gzell @5.2,000/- &  eperm
LIeSSHHE WUnE Cup 1ég edarmr. Csall s
3.1.99 <erm ghmstsranh Cgurs@s $mblearTi.
W T&s S|emm) @S wCarsm Coallwimed
umpr LUl L gl @ren®  sldlsafler  @muGulan
e Cswis.

Describe how to compute claim for loss stock.

6@ BeyLSMg ereueumn sansdll ()  Carhsams
MBS eremmy elleuf&s.

Or

A trader has his stock insured against fire
subsequently a fire destroyed a part of the stock
which was valued on the date of the fire at
Rs.60,000 the stock was insured subject to average
clause Stock salvaged value Rs.12,000. Stock was
isured for Rs.36,000. Calculate the claim.

@ lwururd searg grsdlaar sTiSEH CFiig @ mBSTT
(5.60,000 wdliydrer 16 § alusHamed g UGS
Cezldb emLbglererg. Sibs Frsdamer syrsfl srsg S
sTUlSH Qewigierermi. 51§ srsdlen wdiiy er.12,000.
srsdlever amiih Qsmens 5.36,000 Carilsamasulane
STES (h 5.
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16.

17.

18.

Part C (3x10=30)

Answer any three questions.

Define accounting and explain about the accounting

conventions.

sasSlwedlen eauamyeilssEaTd SMHs WLHMID  FHewrddwied e

DILSE6T 68l6TéEHs.

From the following information prepare a Bank

Reconciliation Statement as on 31.3.2023
(a) Balance as per cash book Rs.2,400

(b) Cheque issued to creditors amounting to Rs.1,340
were not presented to the bank 31.3.2023

(¢) Cheque amounting to Rs.1,900 deposit into bank
were collected and credited before 31.3.2023.

Germaupd ellurhigeer Gamear(h oundl sfldsl (D L iguie

swumt Qgiis. 31.3.2023 Sjeman Dl

(31) uewt UsssLd ¢h.2,400

(=) SLTMETIS@EH&ES, h.1,340 eumdl 31.3.2023 &@& (per

QUPBISLILIL 6dldane)

(@) 51,900 GumdE CQLurdl Ceuwdul L eurkdlss,
31.3.2023 ey Gesfliul () eurelerenen.

Define depreciation and explain about various causes of

Depreciation.

Couinrard eletés@s. As@IMLL  sSTrawmsmer  6dlersdl

SnmiS.
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19.

20.

A company was insured for consequential loss. A fire
occurred on 315t March 1998 and as a result there was
diminished turnover as compared with the corresponding
moths of the preceding year of Rs.20,000. The company
was insured for a period which adequately covered the
dislocation and no special factors existed. The account for
last accounting period of a year to 31st Jan. 1988. Showed
a net profit after debit standing charged (all insured)
Rs.6,000 and turnover being Rs.1,00,000 the company
had taken a loss a profits policy Rs.4,800 and the
turnover for the year immediately preceding the fire was
Rs.64,000. Calculate the claim on average basis.
Bineuarsdlen eflenereuns @UiL gHUBEHDE. 1988 b
e wrrE wrsnd 31 Csd § udgy eHUL LS 6r
Sz cllemerteuns  (phasw g @Cs IsBISETD
(5.20,000 sbCUN&EE @@ GHUELL srosdhés@ sTik®
Sefldsiiu’Lg. @& @b  CQuwie wHmb oLy
Sjbsrisamer Csmar®h @ moselidamae. 1998 b yarr(H
smareufl 31 CadluLer (pye| SdLBS STOLLGHESTE
SEEHGSHET  h.4,000 CLelldli  evGLagen S L ewrhiger
(Sivarsg sTUNH) 656,000 LOHMID SHNIPSH €F.1,00,000
Blmeuargder emub er.4,800 wHmb Sellbh@ perarsrsGo
QHTHEG NDnIPSHD  F.64,000. spmafl  Sjgliuenuled
o flenCaryeme SHanréd(Hs.

Difference between Trading account and Profit and loss
account.
Mlwuruny sard@ Wwhmb @eru Bl sans@ CoumubhsHs
STL(HS.
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S-2184 Sub. Code

22BCC1C2

B.Com. (CA) DEGREE EXAMINATION, APRIL 2024
First Semester
Commerce with Computer Application
FUNDAMENTALS OF COMPUTER
(CBCS - 2022 onwards)
Time : 3 Hours Maximum : 75 Marks

Part A (10 x 2 =20)

Answer all questions.

1. Write a short note on Computer.
sanfluGumd upd Ao GOLIY SHS.
2. What is Software?
QGG LIM(HET GTETmTE) GTEITE ?
3. Expand MAN.
cfleurgsib MAN gme.

4, Expand TCP / IP.
Mfeurgsn TCP / IP.

5. Write a short note on Operating System.
@Quss ewiy upd fn GOy Sms.

6. What is Dos Command?

Dos Command ereimmed ereire ?



10.

11.

12.

13.

What is Directory?

DM@ GTGITMDTC) GT6ITET ?

Give the meaning of Communication.

S&6eUed QML eTemugem ClLMmeT (.

Define Windows GUI.
eerCLmman sSuyen cuanrell&ssaTD H(hHs.

How to select Icons in Windows?

ellarCLmedlehr samenar ereueumm Ggfle| Gelieug) ?

Part B (5 x 5=25)

Answer all the questions, choosing either (a) or (b).

(a)

(b)

(a)

(b)

(a)

(b)

Explain the components of computer.
sanflLClumdlufen gamsemer allersE@Hs.
Or
Point out the types of Software.
Qer@umBHeT cUMEFHMET &L 1q&STL(hs5.
Discuss the advantages of Local Area Network.
S&TU Urliy eueeliferareler memannsamar alleui.
Or
List down the types of Communication.
SseUe) Csmmier euangsamear Ll iqwiad[Hs.
Identify the various functions of Operating System.

Quss NI s LCaum) Qewdurhaemer
S L_WITETLD &TETss.

Or

Difference between Online and Real time system.

Blasphlene LHMID 2 @TELEIMOD LIS EHEE
@ewlerar Ceumiim® wmg)?
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14.

15.

16.

17.

18.

19.

20.

(a) Explain about the Unix file system.
weflgen CamiLy wpevm LHH ellersEs.

Or
(b) How to give file permission in Unix?
walsav-o0  Camiys@ps@  @ind  eapkiGeug)

ereueumm) ?

(a) Narrate features of Windows XP.
cllarCLrmen eréeavidluder SpLILDFRIGMET SMSESH|D.
Or

(b) Write any five menus appeared in Windows.
allanGLreller sramiu@b gGseIbd @b L igLdsmer
(PGS

Part C (3x10=30)

Answer any three questions.
Examine the characteristics and types of computer.
sanfllGumdluden @UIGOLSET LHMILD UGS TS,
Describe the functions of Wide Area Network.
LUrhE UGS cuamaliberard Liwiersamer afleur.
Discuss the classifications of Operating System.
@Quss ewiiber LOCam cumssmer all6ms@s.
Enumerate the functions of file permission and security.

Camiy <i@indl womibd urgsTiy ydweihdler Lemtsamer
elaTsGs.

Elaborate the features of Windows 95 and 98.
MerGLmevy 95 wHmID 98-ear SpliLbsrisamer  6llifleurs
T(PGIS.
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S-2185 Sub. Code

22BCCA1l

U.G. DEGREE EXAMINATION, APRIL 2024
Commerce with Computer Application
Allied — BUSINESS COMMUNICATION

(CBCS - 2022 onwards)

Time : 3 Hours Maximum : 75 Marks

Part A (10 x 2 =20)

Answer all questions.

Define communication.

a6eUed CsMLTy -&3 cuepFwm.

What are socio-psychological barriers?

Feps 2 GTeNIE SENLGET WTane ?

What is solicited enquiry?

Camyliul L eSamyenanr eTemmed 6resmen ?

Write a short note on adjustment letters.
#fl&s Hsd sigsbd ubdl An GO eT(pFIs.
Give the meaning of insurance correspondence.

&MU B S4855 QFTLITL eTemgen QUMHET S(hs.

What services are offered correspondent banks?

BlepLiraer cunidlsafler eremear Caamousaner auLpmbiGdlemnen ?

What is an interview?

CriT&menTed cremmmed GTeTer ?



10.

11.

12.

13.

What do you understand by “Resume”?
“sp@dIuy” updl B sifleug) wing?

What is Agenda?

Blap&s Hlyed eremmmed eremen ?

Write a short note on video conferencing.

srOewmadl &8l @&Mss e GHILIL cuars.
Part B (5 x 5=25)
Answer all the questions, choosing either (a) or (b).

(a) What are the general objectives of business
communication?

auentls  sseud Osrimler  Cumgy  @HECamarser
wreney ?
Or

(b) Explain the benefits of non-verbal communication.

umGlomg SDOOTG  FHUDSETGT  BETELOSEET
clleTé@s.

(a) State the various kinds of business letter.
cuantlas sigssder LoGaun eumassmers GCsfell.
Or
(b) Discuss the important features of an order letter.

QR UM SHlgHSSem (PSS seansaer alleurd).

(a) Examine the necessity for agency correspondence.
a6 GerLmier euslusems < rmiis.

Or
(b) Describe the types of bank correspondence.

Uil sl grisaien euamasamer alleuflssa, .
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14.

15.

16.

17.

18.

(a) What are the objectives of interview?

Critasmantedlen GBTESEBIGET WTane ?

Or

(b) Enumerate the characteristics of a good speech.

b Cugdler Spliueysamer gnmis.

(a) List out the advantages of internet.

@eearT ersSlen Berenloseer LIl Iq1ied (Hs.

Or

(b) Identify the features of a good report.

@M B NSMHUGET YDFEIGEMET  DHENLUITETLD
SIS .

Part C (3x10=30)

Answer any three questions.

Classify the functions of communication.

saeue) Gsmmier Lamflaamer cuansiLI(HSSS.

Write a reply to a complaint letter regarding damaged
goods granting the request.

Camflgansamw aupmigh Csgwa s QUTHLS Qgmiure
& 845580 LF® er(psIs.

Write a letter to the insurance company asking for
renewing the policy.

woarod ygitndssd Casrfl sriulSi @ Hniwsdb@ @
FlgHLD 6T(LPGIS.
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19.

20.

Illustrate the qualities of an interviewer.

Careumarilen s@dlaamear 6lleré@s.

Define minutes and explain the different methods of
recording minutes.
gl L BLaUGEMSS GOILLSET UbDd eueTumSS LLHMID
gl L BLagSMES @Gfluau udle] Csuwybd wdCem)
(PdDSEMET 66T E)s5.
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S-2186 Sub. Code

22BCC2C1

B.Com. (CA) DEGREE EXAMINATION, APRIL 2024
Second Semester
Commerce with Computer Application
ADVANCED ACCOUNTANCY —II
(CBCS - 2022 onwards)
Time : 3 Hours Maximum : 75 Marks

Part A (10 x 2 =20)

Answer all the questions.
1. What is receipt stand payments account?
QUMD CFYSHH HEMTEHSE, GTETDTED CTETET ?
2. What is income and expenditure account?
cU(RHLTET C&Fey HEMTEHE, CTETDTE) GTEITET ?
3. Write a short note on red ink interest.
feulilerd alllg ererugl LUHH GDILIL euanrs.
4.  What is an account current?
BL_LIL| &EWT&(&) GTEITMITED GTEITE ?
5. What is normal loss?
FTGTTERT HL L LD GTETMITE) 6T6HTE0 ?
6. What is joint venture?

Gemant eSlenaT GTETHITE) GTEITET ?



What is joint bank account?
Genant eukIE GTETMTE) GTEITE ?
What is proforma invoice?
wrdf @LTiLY eremnmed eTemer ?
What is single entry system?
@hem LSle| (D 6TemnmTed cTeTeT ?
Write any two demerits of single entry system.
ehen ude| (pepuler GampUTHEET @) Fnmis.
Part B (5x5=25)
Answer all questions, choosing either (a) or (b).

(a) Write a short notes on

(1) Donations

(11) Subscription.

S @Ol euenrs

(1) perCsmen_ser

1) e pubertebs.

Or

(b) What is income and expenditure account?

QunIBed WHMID CFYNISSHSH SENTEHS, CTETMTED GTCTET ?
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12. (a) Describe the objectives of account current.

BanL_(pen sessler GNECasmaraamer alleurfl.

Or
(b) Anand draws the following information from his
business
Date 15.1.2013 06.03.2013 21.5.2013 24.6.13
Amount (Rs) 2000 1000 200 900

Calculate average due date method

arhs serayew eNwururysSHelmhHg Spseareumm)
QzTensemw eTHSSTT

Gsél 15.1.2013 06.03.2013 21.5.2013 24.6.13
Ogrers (¢5.) 2000 1000 200 900

syrafl geuenenr BranaTs SHess(Hhs.

13. (a) What is an account sale?

cpuener saums@ DGME TETDTE 6T6ITe ?

Or

(b) Goods consigned 100 tonnes its cost Rs.250 per ton

and the consignor expenses Rs.2,500 and the
consignee expenses Rs.1,500 unsold goods taken by
the consignee worth Rs.5,000 advance amount
received from consignee Rs.8,000 give the Journal
entries.
@bk  Qelg  srE@ 100 Leamsdr  eubdler
SLsslme L6l @anisHE 5h.250 Saiiih Qewupr
Qeiig Qewey 52,500 S@USH QuppT GFway
1,500  @5.5,000 wFUydrer  elpsrs  FrEas
@Sk Quopt  ahssHs Caremmt  a@urlSh
QumpT @LOBBg pereul iy QubD COsmens ep.8,000
Sjeupdpsrer GHLCLEH HmHs.
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14.

15.

(a)

(b)

(a)

(b)

Write a short notes on separate set of books.

Smpediy  eaers 0 Qoardloastsar  gealls
&enré G5 (D &ET.

Or
Distinguish between joint venture and partnership.
@eent cllenar LHMID dnl L marend GCoumi(HESHIs.
Describe the demerits of single entry system.
ey udle| papuler Gampurbhsamer alleuifl.

Or
Calculate the profit and loss
Opening capital Rs.65,000
Closing capital Rs.66,000
Drawings Rs.12,000

Additional capital Rs.7,000.

Qarhssiul L eleursams @eru BLL LD sarss (hs
QsTL_&8 LpFed ¢F.65,000

@nid s mr.66,000

T(OIILIEET @F.12,000

F(hSed (PJEd (M,.7,000.
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16.

17.

18.

Part C (3 x 10 =30)
Answer any three questions.

Write a short notes on

(a) Revenue expenditure

(b) Revenue income.

A @Oy euers

(=) pevLparn CFaay

(=) BOL(PE®DH GU(HLOTEILD.
Prabhu purchased goods from Sundar the due date for
payment in cash being as follows.
March 15 Rs.200 due April 18th
April 21 Rs.150 due May 24th
April 27 Rs.50 due June 30th
May 15 Rs.160 due July 18th,

Sundar agreed to draw a bill for the total amount due on
the average due date calculate.

“ry eremueu &hsT @LOmBE CumLsemer eummbidlearmt
uenrd Ceauss Coudmgw Seueneant BraT LlemeHOmD)

OMTEF 15 @.200 Seuanent B6T eflife 18

gLITE 21 @p.150 euenent mrar G 24

FUT 27 ¢[.50 SEUENET BT6T g3o6i 30

G 15 ¢5.160 Seuament BIeT s7ena 18

gynaf geuemewt BT Aerm Hlayenes QFQSSHeUsHHETS FHHSIT

@@ wIHNE @ cuemydprT grref seuameant BraT savés (Hs.

What is an account sale? Give a specimen from an
account sale with imaginary figure.

huener FHeMT&HE ETETDTE) CTETET? &HLIGHETLITET 6TEHTSEm 6T
Qarer® lbhuemer M samsms 5(Hs.
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19.

20.

Kannan and Navin were partners whose sharing ratio is
2:1 in a joint venture kannan supplies goods Rs.15,000
and paid Rs.600 towards freight Navin also supplied
goods Rs.8,500 and incurred expenses Rs.500 Navin sells
the entire goods on behalf of joint venture for Rs.30,000
Navin is also entitled to a commission @ 6% on sales
Navin settles his accounts by a demand draft prepare
joint venture account.

®m Qoar lmanuid samaramildb peled 2:1 6fdls
Fal Lmaflaer seamamen AeflEs F76@ h.15,000 el Gelg
QFeay eueltTly QUL and ¢F.600 Belerm Naflss F7é@, @5.8,500
Qe Qag CQswa| H.500 MATEF FT&EGSS@HD BHeIamTe
f5.30,000 &@& st L g peier 6% elpueamer Bz sfey
Qup F@&FH 2L weum paier LieTallanl pLPLD SErTE @GS 6T
Wi45816 QaTHsHnTT Qe cllamen sansams swmilss.

How 1s statement of affairs differ from a balance sheet?
oo siflsms Gouy Hlow @Hludd Qmba Caipubsdls

STL(h&.
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S-2187 Sub. Code

22BCC2C2

B.Com. (CA) DEGREE EXAMINATION, APRIL 2024
Second Semester
Commerce with Computer Applications
OFFICE AUTOMATION
(CBCS - 2022 onwards)
Time : 3 Hours Maximum : 75 Marks

Section A (10 x 2=20)

Answer all questions.

1. What is meant by Computer?
seflL@Quml ererLigem CUmmeT eremer ?
2. What is ALU?
6J.GTGV. L] GTEITMITED GTEITEMT ?
3. What is meant by Word Processing?
Qe QFLOTESD eTETLISHET Ol LIT(HET eTebmen ?
4.  State the use of Redo.
BerHib Ceweder Lwemers GNULAHS.
5. Define — Worksheet.
Mfgmer — @QessamTd H(Hs.
6. How do you Insect Column in a Table?

e Carganars UL igwele Lgderw eriinlg Garling) ?



10.

11.

12.

What is Chart?
GUENTLIL LD GTETMITED GTEITEIT ?
Define — Table.
Cargenars UL iquie — euaFellEEHELD S(Hs.
What is Visual Effect?
M8 ellenere| eTaimmed cTerer ?
Define — Animation.
syl L eflenar — auayellEEeTDd (.
Section B (5x5=25)
Answer all the questions, choosing either (a) or (b).

(a) What are the limitation of a Computer?

@b sai@urdlufer emwaer wraeu ?
Or

(b) Distinguish between computer and Human Being.

saflu@Qumhlsgh  wealls  CeswuduriiyhH@E  dTer
Caumurh&6r &(ms.

(a) Write short note on “Spell Checking”.
Qared sfumissd LD Hny GHOIY TpsIs.
Or
(b)  Write short note on “Header and Footer”.

s@eUY LOHNIDL Sgs&GHuy updl fn GHluY euamrs.
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13.

14.

15.

16.

17.

(a)

(b)

(a)

(b)

(a)

(b)

Write any five features of Spread Sheet.
cfigreflen Casanid ebg HApLiLssTar er(ps)s.
Or
Write short note on “Primary Key”.
wpgareonsg Epedl bl GBIl awgs.
How do you create a Database?
STAISHETD 2 (heUT&h@&GeUgl eTiilig ?
Or
Write short note on “Quecies” in a Database.
sreisgadden “Cadrallad LbHl GHILIL eT(HgIs.
Write short note on “Animation Effect”.
syl L allenere] LHH GDHILIL cuanTs.
Or

How do you select and present an advertisement
with suitable animation effect?

@@ ofarbursdaar Ymsa,l L caearaear Gsifley
Qauigy § eriilig cuipkIEeumil ?

Section C (83 x10=30)

Answer any three questions.

Discuss the various types of Computer.

saflu@urhluder LoGeun auamassmer alleurdss.

Explain in detail Formatting of Text.

2 a7 euigeuenoliL] LHM ellfleurs eflerd@s.

3 S-2187




18.

19.

20.

Define — Formula. How do you create and Copying
Formula?

G&SHTD — aumrellessard HHs. GsHrsHaer B ereucurm
2 (Hheum&@eugl wHmb sl hHLILIg ?

Discuss the different types of reports in Database.
sreyssearsder LioGeun auams yMsmasmer allourdlss.
Enumerate the procedures for making Slide Show
presentation.

dearsss &l dl yewssedar LOCean Cswudwpampasamer
eraTantl&amaEul (.
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S-2188 Sub. Code

22BCCA2

U.G. DEGREE EXAMINATION, APRIL 2024
Commerce with Computer Application
Allied — PRINCIPLES OF MANAGEMENT

(CBCS - 2022 onwards)

Time : 3 Hours Maximum : 75 Marks

Part A (10 x 2 =20)

Answer all questions.

What is meant by Management?

Cuenamento eremLigem GlLIM(HET eTeime ?

What is Management by objectives?

Crrés GeTETand TemmTed GTeiTe ?

What is meant by Decision making?

WPyLeu(ESHD eramLgen GlLm(HET eTabren ?

Define Planning.

S L Bl(Hgedler auamyellossHemd &(H.

Define the term Decentralisation.

LITeUed (LPEnD eTeTLiens 6dlemd:@s.

What is Delegation?

SHETT @UILELLIL| GTETDHTE) T ?



10.

11.

12.

What is meant by supervision?

Chumieney eTermmed ereume ?
Define the term Leadership.
saaLd erern CEmba)sE QO&ESTD F(Hs.
What are the steps in controlling?
sL_(HUUbSgIsOen Hleanaser wrenae ?
Define controlling.
S OLUUHSHSOT UMTENLESEMTD F(H.
Part B (5x5=25)

Answer ALL questions, choosing either (a) or (b).

(a) Explain the important functions of Management.

Cuwereasrenouler wpadlwiwner Lianflganer afleul.

Or

(b) What are the advantages of Management by

objectives?

&M&CameT 2 crem GoemeaTenoudlen HETENLDSEET WTene ?
(a) Explain the various importance of Planning.
AL llpgedlen wasdwsgieud LHH ellersEs.

Or

(b) What are the elements of Planning?

S BlpQgedlen L@GEdlseT wmeped ?
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13.

14.

15.

16.

17.

(a)

(b)

(a)

(b)

(a)

(b)

What are the merits of Decentralisation?

Lgeued (PenDUlem HeTenos6ET WITena. ?

Or

Explain the importance of organisation.

Sl wpeppuliler (psHlwsgieusams allers@s.
What are the qualities of Good leadership?

Smhs semeanouller @uiL&eT wWmanel ?

Or
What are the medias of Communication?

556U QST (PEONEETET FTSEEISET WTENG ?

Explain the basic requirements of a good controlling
system.

Bbe s EUUTL® pevpuien gLt Coaneudser
cllené&s.

Or

State the objectives of controlling.

sUHUupsseer Crrssnigemer 6flers@s.
Part C (3 x10=30)

Answer any three questions.

Explain the principles of Management.

Cuenamenn QareTanssamer 6llars@s.

Explain the obstacles of Effective planning.

fpviurs SOl ellen LoGeum senL_samer afleui&s.
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18.

19.

20.

What are the different advantages of organisation chart?
Sy eflarssliL gdler LCeim HeTenLDSET WmTanel ?
Explain the various importance of Motivation.
Qewgrsswailssalen (psSluggicisams 6flers@Hs.

List out the various techniques of controlling.

sL(Huupsgieder oder LOLCoum mLUUBISMET LG U6

@ 0.
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S-2189 Sub. Code

22BCC3C1

B.Com. (CA) DEGREE EXAMINATION, APRIL 2024
Third Semester
Commerce with Computer Application
ADVANCED ACCOUNTANCY - 1III
(CBCS - 2022 onwards)
Time : 3 Hours Maximum : 75 Marks
Part A (10 x 2 = 20)
Answer all questions.

1. Define Partnership.

Fol_L_TERTENLDEE; U TellESHETLD &(Ha.

2. Write any two essentials of partnership.

Fal Lmamenloudler @)(h (PEHW SDFBISEET Fnnis.

3. What is memorandum revaluation account?

GOy woHUE (Hé SaTEE CTaTDTed crebre ?

4. What is meant by profit and loss appropriation A/c?

Qemu BUL @558 (D& SaTEE, T 6TETET ?

5. What is sacrificing ratio?

2FTW NHFD erammmed ereser ?



10.

11.

What are the rights of retiring partner?

cle@d dnl Lmaflufler o Menwser wrene ?

What is realisation account?

&1 HeTd @, GTETDTED GTETeT ?

What is meant by insolvency of all partners?

Simansgl sl Lnaflsefler Qpmg iy ubHdl oidleuig ererer?

What is meant by piece meal distribution?

fmis Sms LATHseNSEGD (PO CTETMTE 6T6bTen ?

What is maximum loss method?

SHSULF BLL(PEND GTETHITED GTETET ?
Part B (5x5=25)
Answer all the questions, choosing either (a) or (b).

(a) Velan is partner who withdrew Rs. 20,000 on
1st April 2018 interest on drawings is charged at
10% per annum. Calculate interest on drawings on
31st Dec 2018 and pass journal entries.
Coueer eratm ol Lmafl 2018 eliged 1 jerm .
20,000 e(N&FHE Qamewrimi ey g eulig
aTh&EE 10% erar samsdL il Geuar(id 2018
G&bUT 31 erhLiyser g eully samsSl () ighHEGhwu
GSOLCUE udey Qauis.

Or

(b) Difference between fixed capital and fluctuating
capital.

Heoowsd wopyb wipubb  Wsd  pe@pub
Capupsds sr(Hs.
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12.

13.

(a)

(b)

(a)

(b)

How 1is the value of goodwill calculate under the
capitalisation method?

ppOSaTOTSEE  (Wpenpuiled BHEOLWT UL ereucuTm)
sardSLLIL(HE g ?

Or

Calculate the value of goodwill at 2 years purchase
of average profit when average profit is Rs. 15,000.

gyrgm @erud . 15,000 %s @@HSEGh Qumpg 2
@S CameTipged erenm gt ulld BHGELWT

e sardhdlLeb.

A and B are partners sharing profits in the ratio of
3 : 2 C is admitted as a partner the new profit
sharing ratio among A, B and Cis 5 : 3 : 2 calculate

the sacrificing ratio.

A wpmid B erem @ sl Lnafllger 3 1 2 erem @eomu
AflgsHer @arusamns udlibg eubsarm C erearueiamy
sl Lrefl o6 Corsgseart A, B wpmib C Sjeursefler
yHw eoru um@g 5 0 3 2 Surs Hfgsdlad

SETES L_a|LD.

Or

What are the adjustments required at the time of
admission of partner?
gal Lmatl  Ceriler CGumgy CuopGsmarer Geuetrigu

sM&EE_(HSOEET Wranel ?
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14.

15.

(a)

(b)

(a)

(b)

Explain the various purpose of calculating gaining
ratio.

st aldlsd sansdhHeugar Crrsssas olefsg
T(LPSIS.

Or

Kannan, Vinoth and Vimal are partners sharing
profits in the ratio of 5 : 3 : 2 Kannan retires and
the new profit sharing ratio between Vinoth and
Vimal is 2 : 1 calculate the gaining ratio.

sawewen, alCarms wHMID efled erad gl Lmaflger
5:3: 2 aranggid alldlgsHledr @emud LSliHg eubser
sanemer  efedlarmt  HNGarms  wHOHmbd  ellwed
2 FCurfler yHw @aeru HgD 2 1 1 Y Eb. YBsTL
dflgsams samsslab.

Describe the accounting procedure adopted at the
time of dissolution of a firm.

R Fl () Blpeuard soes@nd Curipg Curgens
GerupoliLphib semsslwd wapanw elleul.

Or

From the following particulars distribute cash
under proportionate capital under method :

Capital of partners Amir Rs. 20,000 Bala Rs. 10,000
profit sharing ratio 3 : 2 Ist instalment cash
Rs. 5,000 II» instalment (cash) Rs. 4,000
IIT*d instalment cash Rs. 2,000.

Qereu@md  elurmsellalmbg — Hfgresmy (ps
SilgLiuenLudled Qrréssemns eTeUGTM) L& reumyy
gl Lreflsaflenr  (psed BT . 20,000  UMEENT
gh. 10,000 @eru &ddlgd 3 1 2 P  FeuamenT
Qyrésd  ep. 5,000 @uewLmd  seuaent  CrmEsDd
eh. 4,000 ePETDHTD Seuanant GFm&sbd ep. 2,000.
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16.

17.

18.

19.

Part C (3x10=30)

Answer any three questions.

Explain the various types of partners.

Fal Lmaflsaflen cuanssameT gnnis.

X, Y and Z are in partnership sharing profit and loss in
the ratio 3 : 2 : 1. However Z’s share is guaranteed by X
and Y at a fixed minimum of Rs. 16,000. The Net profit
for the year 31t Dec 2014 Rs. 72,000. Prepare profit and
Loss appropriation account and show the amount finally
due to each partner.

X, Y wppid Z ererm gnlLreflger 3 12 1 1 ererm alflssSled
@eru BLLBiseer LSlTdlerment Z @eomu Limki@ @ mbhSTeD
SIeUHES, h. 16,000 Game| Hlane Qgrens @eorusdedmbgl
aupristu@Gn X oombd Y salLnellsdt 2 Slyeunsid
smdlemmert 2014 19FbUT 31 preverw Himeuarssler Hlar
e@muULd @h. 72,000 @eru B L LSITe| saumsad SWTT ClFus
abeurm gl Lreflgdr OQarhss Ceuamrqu GCsmapsanw
STEHSE (h 5.

What are the journal entries to be passed on revaluation
of assets and liabilities?

Qersgisasem wHmid Curmiyse wHHilbh Celicughsrear
GSOUCUL B uHeyser wrane ?

Suresh, Senthil and Raja were partners in a firms
sharing profit and losses in the ratio of 3 : 2 : 1 Suresh
retired from partnership the goodwill of the firm on the
date of retirement was valued at Rs. 36,000 pass the
necessary journal entries for goodwill on the assumption
that the fluctuating capital system is followed.
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20.

&Creiyp, Qenpdled, pregm HCwrt em BHneuarsder G
BULbigmeT 3 @ 2 @ 1 eremeid ellflgsdler uSlrhg eubser
&Crey ereeu gal Lremenouiled @ (mHE ellevdleri el
ewdlw  mrefled  Blmeuergdler pHOLWT @ 36,000
DHOGAL LI L g Sal Lnell&er (pFed sardH@Gsaner mmiLi(hib

Wsd erars pHeuwT udesarar GHLCUE SHS.

Explain the rules laid down in Garner Vs Murray.

ariarnt e epiCr cupsdled Srorafssiiur L elfsmends
ENOES
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S-2190 Sub. Code

22BCC3C2

B.Com.(CA) DEGREE EXAMINATION, APRIL 2024
Third Semester
Commerce with Computer Application
BUSINESS STATISTICS
(CBCS - 2022 onwards)
Time : 3 Hours Maximum : 75 Marks

Part A (10 x 2 =20)

Answer all questions.

1. Define — Data.

556U - UAMTENVSSHETD F(Hs.

2. What is Pie Chart?

QUL L. QUENTLIL LD GTEOTMTE) GTEoTEu ?

3. What is Frequency?

DG UG GTETMTED CTETE ?

4. Define — Mode.
W5H - uTeNESETD F(Hs.

5. What is Correlation?

QBTLTL&CSL) eTETmTE 6TemeT ?

6. What are Regression Lines?

Qariry Curég@ CrrsCam® eremmme eTeime ?



10.

11.

12.

What is Base Year?

g LI e80T () GTETMTE) GTEOTE0T ?

Define — Consumer Price Index.

B&TGeuri eflenewd @GN CL 6 - cuanrellOESHETD &(H.

What is Secular Trend?

Ber_srers CUTéE, eremmmed erebmes ?

Define — Moving Average.

B&(HD Frmefl - cuamrellosEseamrd &(hs.

Part B

(5 x 5 = 25)

Answer all questions, choosing either (a) or (b).

(a)

(b)

(a)

What are the characteristics of statistics?

Hereflulwedler HpliLibamser wmeme ?

Or

State the objectives of Tabulation.

Cargenars ULl iqwiedlen @GHlsCareraamard @l (H\s.

Write short notes on “Combined Mean”.
@eanss syrefl upH fm GOLy uenys.

Or
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(b) Find the range at co-efficient of range from the

following data.

41 20 15 65 73 84 52 35 70 55

ereumd efeugrisaiadlphg eifs WwHmID 6IFHECEWp

SHITEO0TS.

41 20 15 65 73 84 52 35 70 55

13. (a) Identify the different types of correlation analysis.
Qar_imyssw uguumieder uOGeun eImEHMaT
S wmeTiuh&g)s.

Or

(b) Find the Regression Equation from the given data.
x: 5 7 10 6 3

y: 8 12 9 4 5

&G QaTH&SSLILL g (H&EHLD efleurrisaert el (mBHa!

QarLiry CUTE@EE FaTUTHSMETS STETs.
x: 5 7 10 6 3

y: 8 12 9 4 5

14. (a) State the utilities of Time Series.

sTe56sTLT euflensuller LweaTLT(Hsmerd GDILIGHS.

Or
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(b) Calculate four yearly moving average for the
following series.

Year 2016 2017 2018 2019 2020 2021 2022 2023

Population 317 357 392 402 405 410 427 438
(in lakhs)

Qereumd sresCsTLT cuflessE 4 <Y Bs@HD
FrrEflen s &Ters.
QU(BLLD 2016 2017 2018 2019 2020 2021 2022 2023

&S AsTds 317 357 392 402 405 410 427 438
(@t 5586)

15. (a) List down the problems of constructing index

numbers.

GO QL arganar sasS (hsedld 2 drer
Yréflevengener cuflensliLi(hssgis.

Or
(b) Calculate Laspayre’s and Paasche’s method of Index
Numbers.
Items 2021 2022
Price Quantity Price Quantity
X 10 10 12 12
Y 14 14 16 16
Z 18 10 20 18
wrrg‘uﬁ]u_lr'r woHmd  urevfuder  GDuILCLarsamers
SIS
Qumper 2021 2022
e ete] olened  eTa
X 10 10 12 12
Y 14 14 16 16
Z 18 10 20 18
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Part C (3x10=30)

Answer any three questions.

16. Define — Statistics. Describe the functions of Statistics.

yerefludwed -  euenrellesseand  Fhs.  Lemetludlwadler
uenflaaner allemd@s.

17. Calculate Arithmetic Mean and Median for the given

marks.
Marks 0-10 10-20 20-30 30-40 40-50 50-60 60-70
No. of 5 12 30 25 50 17 21
students

Epsaranid  eleugmsalled(pbg sl (FFyrefl  wHmID
GaLHlapesmars &reaTs.

&G ueTsEr 0-10 10-20 20-30 30-40 40-50 50-60 60-70
LD”F“WGUﬁSSG‘ﬂGN 5 12 30 25 50 17 21
GTEHTET & 6n e

18. Compute the co-efficient of correlation from the following
data.

X: 25 30 35 40 45 50 55
Y: 18 24 30 36 42 48 50
ereupd efleugrisefled(mhg o Ler Qam_s C&y sreams.
X: 25 30 35 40 45 50 55
Y: 18 24 30 36 42 48 50

19. Construct cost of Living Index from the given table.
Expenditure Index Number Weight

Food 550 46%
Cloth 215 10%
Fuel 220 7%
Rent 150 12%
Others 275 25%
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20.

ECQsmhissriLL (Herer clleuraisertedl (mHEI BI&TGeumT
@MU QL_arenent BlyLiLs.
Qeevalard  @GDuTLGQLer e/ Hlenm

2_6uTeY 550 46%
2evL 215 10%
erflQummer 290 79
QUTL6n&% 150 12%
LDHDEDE 275 25%

Define — Time Series. Discuss the components of Time
Series.

srebsrt Asrifeflens - cumrellssamd H(MHe. STOLETT
Qarireuflensuller samisamer 6lleTs@Hs.
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S-2191 Sub. Code

22BCCA3

B.Com. DEGREE EXAMINATION, APRIL 2024
Commerce with Computer Application
Allied — BUSINESS ORGANIZATION
(CBCS - 2020 onwards)
Time : 3 Hours Maximum : 75 Marks

Part A (10 x 2 =20)

Answer all questions.

1.  What is business?

QaTHOPED DHEDLIL| CTETDHTE) 6TETET ?
2. What is industrial revolution?

QasTODHLTLS eremmmed eTemme ?
3. Define-partnership.

Gl L_TETEnLD- Q& SETLD &(1hs.
4, Write any two co-operative organisation in India.

@bHwreile o e gCsaLd @ e (b gl (HDe]
DB LUILE®ET 6T(LDGIS.

5. Define-SSI.
6TGN. 6TE. 83 CUEN TEN VEHERTLD F(Mhs.

6. What is representative firm?

U6l DeMOLIL| CTETMTE GT6bTenT ?



10.

11.

12.

Who are promoters?

CamhmiellLiLimeTTgeT wm?

Who is managing director?
Cueramens @UIG@&GBT eTeTLGIT Wi ?
Define-public enterprises.

Qurgisgienm HmeUaTD-Q)&EHMTLD &(H.

Name any two Government companies in TamilNadu.

sBlPBTL g aaTer gCaend @rean( oif&d sbeueaisarter
CQuuwflenar Qam().

Part B (5 x 5=25)
Answer all questions, choosing either (a) or (b).

(a) What are the objectives of business?

Qzmfléowpern awliber @N&Camaraer wrame ?

Or

(b) State the different types of trade.
lurumysdlen LOGaum cuanssamars @&MOILILG[HS.

(a) Identify the features of a sole proprietorship.

et cu et g fler Spribweseer
S wmeriuhEg)s.
Or
(b) Differentiate the public company from the private
company.
Qurg  flpwges  gaflwrt  HpiwsdBl@bs)
Caumuph5gis.
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13.

14.

15.

16.

17.

(a) State the evils of big business.
Quilu Qsmpeosafer Samwasmers @GHLIGHS.

Or
(b) Draw the organisation structure of a company.
@b BimwsHler el paper alamihs[Hs.
(a) Laist the causes for oligarchy.

SenaTad@,(pedler ellanare|samer euflanadiLi(HEIs.

Or

(b) Give the reason for survival of small business units.
Am CQsmPéd yewinler Frmuecler sTraTHRISMETS
Q&mr(h.

(a) What are the various forms of public utilities?
QumgLl Lwerume () Bl micueng Sl e ueGaum)

L LD TERTRISET WITen6U ?

Or
(b) State the problems of public enterprises.
Qurgisgienn Hlmeiarssler Grssmansamans @D (Hs.

Part C (3x 10 =30)
Answer any three questions.

Describe the various division of a modern business.
Beer Qzmfloeperm  ewoliber  LoGoum UGS samer
ollaTsGs.

Explain the factory determining the choice of a suitable
form of business organisation.

& Spliumer Qg mded S|MLDLIL (P®DEWS
Cambs@Oriugnarear LoCeam srramilaamer adlerd@s.
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18.

19.

20.

Enumerate the criteria for measuring the optimal size of
business firm.

@m 2&5bs e CaThld @bl  BjaTe b
Qpdperpsaer allersdl (Hs.

Discuss the role and functions of board of directors in
company management.

Blmin - Coeramenwule  @Qus@praeuuier GQewe HMID
uanflsener afleundss.

Define-departmental undertaking. Also explain its merits
and demerits.

gaparfl s QUUOSSD-QossamTd FHs. CLQID  SHHer
BETENLD&ET LMD SePDEEET 66T Es.
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S-2192 Sub. Code

22BCC4C1

B.Com. DEGREE EXAMINATION, APRIL 2024
Fourth Semester
Commerce with Computer Applications
PROGRAMMING IN C

(CBCS - 2022 onwards)

Time : 3 Hours Maximum : 75 Marks

Section A (10 x 2=20)

Answer all the questions.

What is data declaration?

76| SMeilliL eremmmed eTeimen ?

Explain Keyword.

W&Ew Qg — o eleTsGs.

What do you mean by assignment operator?
Bludlitiy Qewh@EHeeT eremmmed ereme ?

Give the syntax of if...else statement.

if...else iflsamaufer cursSu SwLImL S(Hs.

Define Array.

cuflens — & cuenywImI.

Write about printf and scanf functions.

Printf wpmid Scanf Qewpur®ser upd erpss.



10.

11.

12.

How will you initialize a pointer?

@@ & wrdlepw ereueumm SNBSS ?

Write about period operator.

Period Qewp@d upd er(psis.

Define — file.

Cariiy — & cuepywm.

Write about # include directive.

# include 2 ggre| LHD eT(gIs.

Section B (5x5=25)

Answer all the questions, Choosing either (a) or (b).

(a)

(b)

(a)

(b)

Explain the special features of C.
C-Qumfluler ApLiy obsmsedr undl efeur.
Or

Explain about arithmetic operators in C.

C- QumPuier senflliGue Qeup@dasamer LD clleu
Explain about looping statement with example.
cuemeTe| samm LHH 2 sTremsgiLer adle.

Or
Explain if statement with a flow chart.

if sapenm e Lmileyls UL gL e ellaufl.
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13.

14.

15.

16.

17.

(a)

(b)

(a)

(b)

(a)

(b)

Distinguish between string and character array.
&y wHhmb eWsg ailewu CaunubhsHs smbhs.
Or

Write a program in C to generate Fibonacci Series,
using function.

C-Qumflle, Qewpur e vweru@®ss fibonacel
QsTL_any 2 (HheuTés e Bl 6T(ps)s.

What are the advantages of using pointers?

SO Wwrhlsmer LILTUHSSHUSTR HUBD BETEnLOSET
wWreneu ?

Or

Explain the user define function.

LwerU(hSglelm QFueumiqener 6e6Té@Hs.
Describe about go to statement with example.

kG 0560 Nsmsiear 2 srraTsgiLen alerd@s.

Or
Write a note on:
(1)  F Printf (1) FScanf
&Hluy 5@
(1) F Printf (1) FScanf
Section C (83 x10=30)

Answer any three questions.

Describe the various type of data types in C—program.

C—Qumfluler LoCaim sr6y cuassmer 6flaTsEs.

Explain decision making in detail.
Srorefliy upd elfleurs eleufl.
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18.

19.

20.

Write a program in C to create a dictionary of students
with roll numbers.

cuflens eramaH@pLem  WTaTelisaler STTHML 2 (Heurss
C— Qumpuie em Hlye eT(psgis.

Briefly explain the various storage classes in C—program.
C—Qwumflle odar woGoum Haaeus eugllaman
alerésnms efleufl.

Describe file input and output in detail.

Camiy o @raf® wHmb Qeueli® upd dfleurs erpsis.
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S-2193 Sub. Code

22BCC4C2

B.Com. DEGREE EXAMINATION, APRIL 2024
Fourth Semester
Commerce with Computer Application
BUSINESS MATHEMATICS
(CBCS - 2022 onwards)

Time : 3 Hours Maximum : 75 Marks
Part A (10 x 2 =20)

Answer all questions.

1.  What is “Annuities”?
“UBLTHHTD” eTammmed erebre ?
2. What is depreciation with formula?
G&SITSgIL6 “CuinTard” eTemmmed 6Teime ?
3. What is “laws of logarithms”?
“bLgens 4" eremmed eTetTen ?
4, What is Anti logarithm?
TET DLGEMS CTETDHTED GTEITET ?
5. Define “Set theory”.
“Qe CamiumeL” cuengumidseyb (Csm@ly Camum®).
6. What are the elements of set theory?
Qam@LLs Cami_Um’iq 6T samser wTene ?

7. Who is the father of probability?
Bl&DSH6| -6t SHeng W ?



10.

11.

12.

What are types of probability?
HlEDPSH6T CUMSSHET WLITEnE ?

What is the basic formula of binomial theorem?
@ @mewss Camiumiqer Sjiglilel @GS HTh wng)?

Who is the father of binomial theorem?
@ maennd Camiumiger Sheng W ?

Part B (5 x 5 = 25)

Answer all the questions, choosing either (a) or (b).

(a)

(b)

(a)

(b)

A sum of Rs. 12,000 is lent out at 5% per annum
simple interest for 5 years. What will be the amount
after 5 years?

T  Yarhse 5% eliguléd . 12,000, 5
STOEHEHSEG UPEISIUOEDG. 5 e ([H&EHEEL
NG eTeueleTe| Csmens @) (hHéEL ?

Or

An investor wishes to save Rs. 1,00,000 in the next
8 years. The investor opts for a saving account that
pays 6% annual interest compounded monthly.
Calculate the closest value of the deposit the
investor should make to reach the target.

SLLmert HHHSs 8 a@r(HEefled em. 1,00,000
gg@%ﬁ aﬂ@mqé]mn?g)g@g, I'_I_I'(I'B;Tl:l' @éﬁ Calliys
sansms  Core] OQeudprt. @& wrspGCsmmId 6%
UBLTBST el gl QFQssHsIng. Qosmse el w
%)g,@&'_l_rrmr'r Qauviw Ceuadrqur eneuliyg Ggrensulden

& Qpm&swnear HUIMmLE SaTdHdl(HBISET.

Find that: 2log (gj ~log (ﬁ) + log [%) ~1og 2.

162
15 25 4
21og[ 22| — log[ 22 | + log[ 2 | = log 2
Og(lS) Og(lezj 0g(9) °8 oS
STL_PlWeLD.
Or

Solve  the  following logarithmic  equation
log, x = log2’.
19 66U (LD DL &6ena FLOGTUIML 6L Sidgab
log, x = log2’.
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13.

14.

(a)

(b)

(a)

(b)

On a group of 52 persons, 16 study mathematics but
not physics and 33 study physics, how many study
physics but not mathematics. Show by Venn
diagram.

52 Guir Osmar.  @pedled 16 Gurm %U_Ijj’)lﬁ]u_ld)
Ul &&moe senfisb Ligsdlammart, 33 Gur @upllwe
L sSlearpart. essemer Cur @uibiuie Lig&sSpmrser
Qamd  sentisbd Ugsseloame? Geudm euemrLLLD
EPQULD &ML L_@]LD.

Or
Express the following set in rule method
@ {1,2,3,4,5,6}
@) {5,10,15,20, 25,30, 35,40, 45}
(i) {1,2,3,4,6,12}
Gv) {1,1/4,1/9,1/16,...}
emeumd GsmErienu aldpenpuiedr CeuafliLihissaibd
o {1,2,3,4,5,6}
@) {5,10,15,20, 25,30, 35,40, 45}
i) {1,2,3,4,6,12}
Gv) {1,1/4,1/9,1/16,...}

An Urn contains 5 white, 3 red and 7 black balls.
Find out the probability of getting a white or black
ball in a single drawn.

@@ sUk0 5 Geudtaner LBgISSET, 3 Heuliy LbgI&seT
LOHMID 7 &MU UbSIESEET @ méslermer. Geuetaner
Soegl Uy ubms @G GCrrsdde CumeusHETET
TS WS FoMSEMETs SemL_HLeLD.

Or

A card i1s drawn from a well shuffled pack of 52
card, what is the probability of the card being either
red or a jack?

@ SiLenulled 52 SiLevL_sarler 4
OMHOIWENLOSSLILIL L Qam@LUie @ mbgl
THESILGSDG. ABS L Slelli] DG Bs
<5 QUUSHSTET FTESSLSTM CTCTET ?
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15.

16.

17.

18.

19.

20.

(a) What are the terms in the binomial expansion?
aouGarmilue olflursssder o dmer el penmser

WTene ?
Or
(b) Find the number of terms in (1 + 2x + x2)50
Qerheefler cTaTEwtl Hen S en Wi ST M6
(1 + 2x + x2)50.
Part C (83 x10=30)

Answer any three questions.

A person deposit Rs. 6,000 in a bank which pay on
interest of 9% per annum compounded continuously. How
much amount will be in his account after 10 years?

@@ BUT eumSudd ep. 6,000 GLumdli Q&uﬂa%;é%l)rrr'r. @al
Q&G 9% euligewl Qariibg Oegssidpg. 10
ABTHHERSGL D@ — DAUTEH SETHHD  ETEUGUETE|
QgTensudl(me @ ?

Find the number of digits in (49)*, 3" .

(497,38 - @&  Qassmsalar  caraflEmeemud
SEHTLHlweLd.

In a survey entertainment habits of 1000 persons, it was
found 400 persons do not see cinema nor witness T.V. 500
persons go to cinema and 200 persons see T.V. Find out
the number of persons who see cinema as well as T.V.
Find also the number of person who see only T.V. but not
cinema and those who go to cinema only but not see T.V.
1000 pufseiid pLSUILLL puiefer 400 Cuir SHaflom
uriudleene 1g.69. unﬁulﬁmm@). 500 Guir Haflomreyd@Ld
200 Gui yel&@h Osddprrgedr. Heaflbor wOHMID 1q.69.
umis@ — purseflear  camaismasamwsd sl Plweb.

S.eow  LEL  urfluerseiear  eraTaRiléamaanwun

afloreel WL (Hb uTTsEsTLd Haflbre]sE Cadueiisarter
crarenilEengenwiw|bd SHevr(H L9 iq U EISET.

Explain the types of probability distribution.
Hlapsse| LdlTaller cumasamar 6l6md@s.

Explain the binomial theorem for positive integral index.
Criroenm R(HEIS b GOULp&sTar Qs
CamiumlenL eilerd@s.
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Part A (10 x 2 =20)

Answer all questions.

1. Define “Company Secretary”.

Blimeiargdlen QFwemeTeny euaTwmi&sHe]LD.

2. What are the types of secretary?

QawemerNer eUmSSHET cTETET ?

3. What are the four stages of formation of a company?
@ Bineiarsdler 2 (heursssdler prerE Hlanmser wramel ?
4.  What is MOA and AOA?
MOA wipmid AOA erestmméd erebren ?
5. What is a joint stock company with example?
THSSISSTL_(HL6T dnl (HUMBIE HlHICUETD TETHTed 6TeTeT ?
6.  What is e-filling?

Wer-CamiiyuBh SIS0 TETDTed GTeiTe ?

7. What are the kinds of meeting?

Fol L SF6m cUNESHET WTena ?



10.

11.

12.

Briefly note on “Voting Rights”.

“‘aursseflg@n 2 Manw” uhdl &mESHLTE 6leTdEs.

What is Agenda?

Blap&ES Blmed eremmmed eTeimeT ?

What is “Motion in Company”?

“Bnicuarsen @uisEsLd” eTaThmed 6rebre ?

(a)

(b)

(a)

(b)

Part B (5x5=25)
Answer all the questions.

Explain the types of secretaries.

Qewererrsefler cuamssamer 6flers@s.

Or

Briefly explain “Secretarial Work”.

Qewererrseflar Lafleows &m&sLTs 66T @Hs.

Briefly explain the promotion of dJoint Stock
Company.
gl ukE Hneuagdler  sas@edly  ubHm

F(HEHOTE 6T Es.

Or

Explain the industries development and regulation

act.

QzmPer Cobur@h LHMID QUBEIGLDE FLLSMS
cMlemd@5.
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13.

14.

15.

16.

17.

(a) What are contents of memorandum of association?
FMBIG 2 GTETL S&5S 60 2 TaTL S5 6Teme ?
Or
(b) What are contents of prospectus of company?

Bimeiarsder efleurs @mlder o qTaTL&sLD ereimer ?

(a) Explain the procedures for registration of company.
Bneuersens udle CFleugHETaT B (PEDESEET
cllené&s.

Or

(b) What are the procedures followed to be conduct the
meeting?
Gl LM BLSSeUFSNSE WerudpiiLBb Bl (LPenmsar
WITene ?

(a) What are the types of resolutions?

Siorarigefler cuamaser wrene ?

Or
(b) What are the advantages of minutes book?
Blasphlenm LS55 6m BemepnseT Wrene ?
Part C (3 x 10 = 30)

Answer any three questions.

Explain the liabilities of company secretary.

Bimieuers Qgwemerfler QUmmLIL&smer aNlemd@s.

Explain the duties and liabilities of secretary in
promotion of Joint Stock Company.

g0 U@ fneuasams Cobu@sgeudd Ggwemerler
SLWEET wHmIb CumnliLseamer 6lerd@s.
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18.

19.

20.

What are the difference between articles of association
and memorandum of association?

FBsE  SLOMIS@EREGD  FEss  @ONubDEh o dTer
Caumurhiser wrene ?

Explain the “Guidance note on Annual General meeting”.
uBLIBSy Qurgls gl L @nss st @l
cllerd @ s.

What is statutory report? and its contents — explain.

FULLTe SNGEMS GTATDTD GTETET? DAFEM O GTETL &H&HhISET

ubdl edlerd@s.
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